
b)What is the rate expression for this reaction?

Step 1:     (CH3)3CBr  (CH3)3C +    +  Br- slow

Step 2:     (CH3)3C + +  H2O  (CH3)3COH2
+ fast

Step 3:      (CH3)3COH2
+
(CH3)3COH + 

H+

fast

More Reaction Mechanisms

a)What is the overall reaction corresponding to the above mechanism?

Rate=k[(CH3)3CBr ]……note it is unimolecular

(CH3)3CBr + H2O  (CH3)3COH + HBr



a)What is the overall reaction corresponding to 
the above SINGLE STEP mechanism?

b)What is the rate expression for this reaction?

OH- + CH3CHBrCH2CH3  Br- + CH3CH(OH)CH2CH3 

Rate = k[OH- ][CH3CHBrCH2CH3]…note it is bimolecular
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